Cuestion 4 13 miarks

For each positive integer i, Lot

(i)

A, = [—l. 1] . By =[=n,n}

e n

Sketeh the subsets A; % I, da w0 By of R®,

(i) Lot z={r %) € R

(&} Frove thad if fog] > 1, then
. f .d. X E|.

(b} Frove that if [z | > 0, then there exists a positive integer v soch that

£ ¢ A % B

(i) Deterpune the subset

ﬁ':-‘ih ¥ drg)

a=1

of R®.

[onr answer should give the subset of R* and cxplain why this set equals the

priginal deseription as an i.L'lT.:}l‘:b::l'.r.'il::nl.]

Geometric Topology

Ouestion 5 10 ks

(i)

(i)

Write dovwn the monber of boundary curves of the following surfaces (made of
thin paper). In each caze, give a sketeh to illustrate your answer,
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Explaim why no tvo of the thres surfaces are homomorplhic,

2]

[2]

(6]

2]

[2]

1]
5]



